o
MUSTERKIAUSLE  VEWN - DIAGR., IERFELDER ... — [pSuNE

@ c (g )nC=c\A\B
A 3
@ a)| m v H: Hagespioblome | & jm %}
G 15 45 £o s
3 5 M5 | Az0 Pa f”)-g—:if-(s:'/. Paln) = Pz (n)
do | Mto | 40 Piln) =2 - 427

=2 Die ﬁdja.frrﬁri’mz Konnnen
tindesitig Vow, €55,

@ P ,msih‘/ Jlfts‘f&)‘ .V © Sthwty vertdikenbF

P(P) = zox bolr) =2
Bl = 7.
Plv) = 45«

P (P)-Plv) = Blv)-Pe)  |:Pr)

» - P)
plp) = 2LLEE
o/ - ZOL.

)4

® »(0)-= 5§
P(A) = €x
PlovA)=dz/

2)  P(OrA)= Pl0)+ PA)-P(DoAY [+PIOcA) ~AlDrA)

( Poud)= Peo) s F1a) - Plor4) )

PoaA) = §p+ by ~AZX = 27

¢) P(OCA) =857
o P(DnA)
a) bt A Tabrk &
Al = 30 (Al = 40>
Pla)= €. P(A)= %

(ave) n (Buc)

(ebsolute Heaf
it Fabrik 8
AEAE( ’

wlrr el #.
rasst sicd
aiclls -“#ﬂll
da Antab dec
biers uh‘//ﬂ.\

ok by ven

Fabre £




